CABLE TRAY FLAT ELBOW 45° FLAT ELBOW 90° END CAP STANDARD FLEXI RISER COMBI RISER

Width
100
150
200
300
400
500
600

81415
83150
83151
831562
83153
83154
89356

68972
68973
68974
68975
68976
68977
69727

Width
100
150
200
300
400
500
600

109115
109116
109117
109118
109119
109120
109121

109107
109108
109109
109110
109111
109112
109113

Width
100
150
200
300
400
500
600

1302203
109003
109004
109005
109006
109007
109008

1302202
108996
108997
108998
108999
109000
109001

Width
100 1300747 1300740
150 1300748 1300073
200 1300749 1300074
300 1300750 1300075
400 1300751 1300076
500 1300752 1300745
600 1300753 1300746

Width

100 108071
150 108072
200 108073
300 108074
400 108075
500 108076
600 108077

108064
108065
108066
108067
108068
108069
108070

Width
100
150
200
300
400
500
600

1302148
83180
83181
83182
83183
83184
83195

1302147
83175
83176
83177
88061
83193
83194

Length = 3 m. Material thickness
= 1,5 mm (2 mm also available).

CABLE TRAY FOR LIGHTING

Width SS HDG
100 1302201 1302200
Length =3 m.

Material thickness = 1,5 mm.

The square perforations are suited for routing
cables through the cable tray.

TEE-PIECE

Width SS HDG
100 1302209 1302208
150 109065 109017
200 109073 109025
300 109081 109033
400 109089 109041
500 109097 109049
600 109105 109057

COVER

Radius = 75 mm,
12 x M6x12 fastener(s) included.

Radius = 75 mm.
8 x M6x12 fastener(s) included.

Radius = 75 mm.
8 x M6x12 fastener(s) included.

Width SS HDG
100 1302604 1302601
150 1302605 1302602
200 1302606 1371563
300 1302607 1371564
400 1302608 1371565
500 1302609 1371567
600 1302610 1371568

Length = 3 m, Cover for 45%90°
bend, Tee- and Cross-pieces on
request.

COVER CLAMP

Type SS HD

Cover Clamp 1372670 1372672

Raised

Cover Clamp 1oL

59997

*Use 4 clamps per 3 m cover,
M6x12 fastener(s) included.

&— Raised
Cover Clamp

q

2 x M6x12 fastener(s) included.

Radius = 75 mm, flexible inside and
outside riser 0-90°. Bent by hand.
10 x M6x12 fastener(s) included.

Width
50 108901 108896
100 108902 108897
150 108903 108898
200 108904 108899
300 108905 108900

Splice connector for opposite
side are not included.
4 x M6x12 fastener(s) included.

Width
100 60287 60279
150 60288 60280
200 60289 60281
300 60290 60282
400 60291 60283
500 60292 60284
600 60293 60285

Radius = 67.5 mm. Inside and
outside riser in 90° or 2 x 45°.
10 x M6x12 fastener(s) included.

MODULAR FLEXI RISER

Width SS HDG
100 60138 51969
150 60139 51970
200 60140 51971
300 60141 51972
400 60142 51973
500 60143 51974
600 60144 51975

Radius = 175 mm, flexible inside
and outside riser. Can be expanded
with multiple joints.

8 x M6x12 fastener(s) included.

Type SS HDG
Inside fit 1306914 1306915
Splice Plate 1371813 1302167
U-shaped 1302211 1302210

Recommended to use splice plate
for tray widths above 300 mm,
M6x12 fastener(s) included.

Any required angle from 0-90°,
10 x M6x12 fastener(s) included.

@glaend System AS  E-mail: oglaend@oglaend-system.com

<&— Inside fit

U-shaped

Width
100
150
200
300
400
500
600

SS
109166
109168
109171
109175
109180
109186
109193

CROSS PIECE

HDG
109138
109140
109143
109147
109152
109158
109165

Radius = 75 mm,
16 x M6x12 fastener(s) included.

HINGE

Type

Vertical®

SS

Z-REDUCER ELBOW FLEXI 0°-90° SPLICE CONNECTOR Horizontal 1302213 1302212

1302215

HDG

1302214

4 x M6x12 fastener(s) included.
*Hinge set, adjustment in steps of

DIVIDER

Type

SPB-RF
60 DI

7,5°

SS

57640

HDG

57641

3 x M6x12 fastener(s) included.

Phone: +47 51 78 81 00 www.oglaend-system.com

Length =3 m.

A
—_—
-

= OGLAND
= SYSTEM

A Group Company of I=1ILIT"1

@glaend System AS
P.O. box 133, Engelsvollvegen 264
N-4358 Kleppe, Norway

Phone: (+47) 51 78 81 00
E-mail: oglaend@oglaend-system.com

Order/purchase orders:
ordre@oglaend-system.com

www.oglaend-system.com

z S — -
- - »,» : \ ’
- —
. —
. x\
| :3 jﬂﬂ%
- —— —~—b —~
o —
é V4 —

& -

This poster shows the main/most used parts of the SPB-RF60 System.
For a full overview of the SPB System view our products online:
www.oglaend-system.com/selector

Certificates:

Please contact us for exact application.

DNV-GL

Please note! Whilst every effort has been made to ensure the accuracy of the content, our systems and products are under continual improvement and development, therefore we reserve
the right to make changes to products or specification without prior notice. Product graphics are intended to be representative, however small differences in actual products may occur.



